
PartNo CAT NO DIM/mm Description QTY

OMEGA-PR ACS-PR-OMG 1

L-345 ACS-1029 1

ROD M8 SC-BAR-GM8/1 300 1

SCR-M6-10 SC-HX-M6/10 1

SCR-M6-16 SC-HX-M6/16  4

NUT-M8 SC-NUT-M8 4

WASHER 8-16 SC-WS-M8/16  4

LOCK-WASHER 8 SC-WS-SPR-M8 5

ADS Laminar
Date of
current:

Date of
created:

 3D view

Approved 
Remi

Designed 
Edward L. 

.

27-11-19 14:34

04-Jul-22

SHEET     1 OF 3A4

D-IPS-5-24-24
CLEAN TENT 24/24

Tolerance: 1mm QTY 
O.F. :

Edition: 01



 2509 

 2
09

0 
 2

50
0 

 1
50

0 

 2669 

 2
64

7 

 2487 

LED-SP-90-12W- 6un`

LED-SP-150-18W - 2 un`

ADS Laminar
Date of
current:

Date of
created:

 MAIN view

Approved 
Remi

Designed 
Edward L. 

.

27-11-19 14:34

04-Jul-22

SHEET     2 OF 3A4

D-IPS-5-24-24
CLEAN TENT 24/24

Tolerance: 1mm QTY 
O.F. :

Edition: 01



 570  570  570  570 

 2
48

7 

 2509 

 1
18

0 
 1

18
0 

ADS Laminar
Date of
current:

Date of
created:

 Construction

Approved 
Remi

Designed 
Edward L. 

.

27-11-19 14:34

04-Jul-22

SHEET     3 OF 3A4

D-IPS-5-24-24
CLEAN TENT 24/24

Tolerance: 1mm QTY 
O.F. :

Edition: 01


	3D view
	Drawing View2
	Drawing View15

	MAIN view
	Drawing View6
	Drawing View9
	Drawing View10
	Drawing View16

	Construction
	Drawing View11
	Drawing View12


